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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

2yMass (GeVp
&
(2]

[N
D
—T

0.12

0.13F

600
Channel Number

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

=
6]

o

2ycWidth (GeV

0.005
0- - AR B
0 600
Channel Number
Pi0 Mass (lteration5)
x10° Entries 3.584858e+08
2600F X / ndf.693e+04 / 165
E Prob 0
%OO:_ 1.156e+06
R200F 0.1346
- F 0.007889
5000.— 5.005e+05
F 0.0151
41_@ 00: -2.426e+07
%OO_— 6.5356+06
OO:— 4.245e+05
1200F
1000F
800F
6005:.|...|...|...|...|...|...
0.06 014 016 018 02

2y Mass (GeV)

Signal to Background

0-...I...I...I..

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

e

0 200 400 600
Channel Number



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) SI/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

&15 015 - 5
2 | O%Q S |
S o | 3 [
0 <= | 2 4L
g | N A
g 2.0 .
14 .
&L « E 3r
(G -
e o oo f o e e e o e o I S L
Z [ ® ZWM ectootheciiany
0.13F 0.005F *
Tnagenssggioay sosegorsistolus sitgs abotnys
012||| I T TR RN AT R DR R
0 200 400 600 0O 200 400 600 00 200 400 600
Channel Number Channel Number Channel Number
Pi0 Mass (lteration6)
x10° Entries 3.584858e+08
2600F X / ndf.695e+04 / 165
o Prob 0
%OO:_ 1.157e+06
&200:‘ 0.1346
. F 0.007892
5000.— 4.998e+05
F 0.01511
w 00: -2.422e+07
%OO_— 6.525e+06
0ok 4.251e+05
1200F
1000F
800;—
600ty o by v b b b b by

0.06 0.08 0.1 0.12 0.14 016 018 0.2
2y Mass (GeV)



2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration
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